
 

 

 ) معادلات زیر را حل کنید.مثال

) 3 3 334 log 5 log log 10x+ =   ) 4 4 435 log log 9 log 27a + =  
 
 

) 10 1036 log 16 log 2x−   ) ( )
7 7 737 log 24 log 5 log 8x− + =            

 
 

) 2 2 2
138 log log 16 log 49
4

n = +  )39 log 4 2log loga a an x x− =             

 
 

) ( )40 log 8 3log 3log 1b b bn x+ = −  ) ( )
10 1041 log log 3 1z z+ + =             

 
 

) ( )2
6 642 log 2 log 2 2a + + =  ) ( ) ( )

10 10 1043 log 2 log 8 log 5x x+ = − −            

 

) ) ( ) ( )2
1 1 2 2
5 5

2 244 log log 45 log 4 3 log 3 21
10 1

x x x x
x

+
= − + = +

+
            

   

) ( ) ) ( ) ( )
2

2
1 1 1 1

10 10 2 2

2 5446 log log 4 47 log 3 4 log 2 2
3

x x x x x
x
−

= − + − = +
+

  

 

) ( ) ) ( ) ( )2148 log log 1 49 log 8 10 12 3log 2 1
2

x x x x x= + − − = −  

 

) ( ) ) ( ) ( )3 3 3
150 log 2 log log 8 51 log 4 log 2 11
2

x x x x− + = + = +  

 

) ) ( ) ( )1 1 152 1 log 5 log log log 5 53 log 4 log 6 log
3 2 3

x x x co x − = + + − = − + 
 

  

 

) ( ) ( ) ) ( ) ( )2
5 5 5

1 154 log cos log 1 sin log 1 sin 55 log 5 log 3 log 2 1
2 2

x x x x x x= − ⋅ + + + − = + 

 



 

 

)را پیدا کنید که  به ازاي هر یک از آنها معادله   aهمۀ مقدارهاي   )56مثال ) ( )log 2log 1ax x=  یک ریشه منحصر داشته باشد .   +

  

 

 

 

 


